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. REWOEH (DOFIF)
1\ 2 KFHERA 2’+axtat3=0 - @ OEFIHOFEE FN
| T o Rl aUEBOENET 5.
BB =s® H3R D=b'—lac 2HAT 5.
D>0 = R72:5200EKM, D=0 = EHEf#, D<0= E¥MLL

- FREXQ DHHNREDETLE D=a*—4(a+3)=(a—6)(a+2)
D>k E, O, £i52O00FEME LD,
L Thbb (@6)@+2)>0 5 a<-2 6<a DEE2E
I D=0tk Ok, EExdo,
L bbb (a—6)(@+2)=055 a=-2,6DEE 1@ B
L D<OmEE, O, EERELEV,
Thbbt (@a—6)(@+2)<0 25 —2<a<6DEF  (Of@

248 kOSBRI T LD B, BEm OEOHEERD Lo
*1) 2 WFRERR 2+ ma+m=0 DR% B 2O00EKHE LD,
*2) 2WBE y=—x*+dmx—6m~+2 DTS IV xWE ) THICH B,
*3) x DT XTOMEIZH LT x?+max+3>0 ALY LD,
@) 2&ABEKX 2+ (m+1Dx+3(m+1)=0 BEEHEE L2,
*249 EEEBOERET S, ROFEROEHHEOMBE AL,
(1) x®+kx—k+8=0 (2) x*+kx+k—1=0

250 2200 2kEH y=x*+2x+m, y=x*+mx+m+3 DI 5 TH, \»§
RbxfheBFR2 DL E, EHmOEOHREEZRD X,

*951 xI1CB3 % 2200 FER x2—2x+a=0, x*+3x—2a=0 O— i E%
L200FEME L, MAPEFEL DR VEIIC, EMaOED
HEZED Lo

*952  x DFER kx®+2x—3=0 OEBBEOEEE KD L,

253 xDFTRTOEKROMEIZH LT B2—1Dx2+2(+1D)x+3>0 255K 0 31D
X2, EOHEOTHHEED Lo

BUR 253 ax*tbx+c>0 BEITH Y oL
Fa>0 72 D<0) 721k Ta=b=0, ¢>0,

BOFME (IS5 THIR)
2k x " axtd=0 0 2 DDA LIZ] & 8ORMILH
52915, BaOMOBHEED k. .

B RETHELORM ax’+bxtce=0 (a>0) 75 p<x<q TLEL b
© D:bi—dac20, B p<—<q, W F()>0, Fl9)>0

Flo)=x’—ax+4 £ B f(x)=0 22T D=a’—16
1] D205 a®—1620 XoT as—4, 4=a
21 y=F(x) DI 7OEI; 1<x<812H D25

1<5<8  koT 2<a<lé ==
[31 F)>0, F®>025 5—a>0, 68—8a>0 Lt-T a<5
[U~[3] 5 4=a<5

*254 FHER 2’ +mx+3=0 PIROEBEFHE T I, EHEmoOBEOHE
D L,
(1) 220N EDIZIE (2) 220D@HEHIZ -1 LY/

*255 2 RHBRR xltEx+2k—1=0 D2 ODBHEBIZ -2 5DEITH S
912, EBEOEOHBLZED Ko

256 KO 2RAERD, GRONZHBANICBOTHEIZKY IO LI, &
BmoOEOHEE ZENED L,
(1) x®*—2x+m=0 (7) —22x=0 (1) 0=x=3
(2) —2x*+4x+m=0 (7)) —3=x=1 (@ 1=x<

*257 2 KARZER o2+ 2mx+120 25 0S4 =2 [2BWTEILRY T2 L 912,
EHmOEOHEEEZED X,

*2858 KROEHEHT IO R, ERm OBEOSHREERD X,
1D xOFTRCOMIZKT LT x2+mx+2z—x%+2x
(2) 21, X DT RTOBEICH LT 22 +ma+22 —x2+2x,

Bok 256 Sxoni#ifzaEsis 2Bz onT (RAME) 20
258 (1) BHE 248 (3) 2, (20 (x*+mx+2 OBR/ME) = (—x2+2x OEKAE)
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Bl 2 RESMOELDRIE

- BORE R (5125
RO x D 2RHFERD L OOWA0 & 2OMIHY, MOR
B3 TOMIHB LI, EMEOBOMEEED L,
(1) x*+kx+3=0 (2) kx*+2x+3k+1=0

BB MOBE 2 KEH y=F(x) I20WT, f(s) & f(t) DFEHERDE, s
EtOBIC f(x)=0 &% 5 x DEaBFEET 5o
2% D s<t, fF&)f)<0 = % x=0 (s<a<t) PHLlo

BE (1) fr)=x*+kx+3 LB L, ZORPMITTICNT,
- F0)=3>0 THBDH
2RBER F(x)=0 D 1ODMEH0 L 20RIZH Y,
MHOfFEA 3 & 7T OMIZDH 572D D5

F(2)<0 »2 £(3)<0 22 £(7)>0
XoT T+2kE<0, 12+3k<0, 52+7£>0

INEBNT ——572—<k< —4

@) gl)=kxt+2x+3k+1 EBLCE, g0) & g2) A8 23
- BB ETHOgB) L g(N) BEFETHNE I v

5 g(0g(2)<0 22 g(3)g(7)<0

(3k+1) (Tk+5) <0 % (12k+7) (52k+15) <0 0 7

el —-L .—.l. |
INERCE —gg<k<-g B

259 HER xl+hx+E—2=0 PROEML R T LD RERE OEOHE
2RO L,
(1) 1202 -3¢ —1DIZHY, MOFEF2 L 4DHICH S,
2) 120X 1 XYV KREL, ) 1208IT L D/AS W,

*260 2 kFHER 2822 —(B+2)x—5=0 D 1 D@ —1 & 0 DOHEICH Y,
MOfEH 2 & 3OMICH S &9 Bk OBEOHBZ KD X,

*261 2 kB y=x(x—1)+(x—1D)(x—2)+(x—2)x DT T 7 & x §i7s,
0<x<1 & 1<x<2 DHEHFET1 HIyo2{BFEHREZ DO L E2RYE,

Bk 261 y=7(x) £BT F(0)-F(1)<0, (1) f(2)<0 ZRTo

ﬁ@ﬁﬁ;ﬁﬁ &)
\> ARER 22 —5x+4=0 22T I RTOx I LT, KROAEE

REWMAT LIS, THMaDBEOEHFEED Lo
(1) x*+2ax+3=0 (2) x*+2ax+3=0
P MOSSEFE A0 2HTI<Tox 3 R%ER® 2T,
> @ DEF® ORBIIETND,
BEE) (1) x2—5x+4=0 26 (x—1D(x—4)=0
: LoT 1=x=4
EERHT20I2E, 1Sx=4 78
x*+2ax+3=0 DFICE T T LV,
flx)=x2+2ax+3 LB &,
F=0, F@=0
L7255 T 1242a-1+3=0, 4°+2a-4+3=0

o< aé——lsg-

(2) 1=x=412B0T, f()20 L2 b0
i, flx) O#NcEE LT
#@<itonkx Q)20
ntn kb
4<(@h) okx F(A)=0
L72dfoT —a<l OrE 124214320 &o7T a>—1
1€—as4 DL & D=(2)—41320 koT —/3<as-1
4<—a DEE 4°42a-4+320 LoT adfElZw
PEdrS az—/3 &

262 AERX (x+D(x—2)<0 2T INTOxIZH LT, KOFRERZ
Wt X ICERa DEOHBZED Lo
(1) (x—a)(x—a—5)<0 2) (x—a)(x—a—5)>0

*263 A& 42—6x+8=0 Zili2TIRTOx I LT, RORER %7
T LI EB e DEOHFEEZED L.
(1) x*+4ax+5=0 (2) x®+4ax+5=20

Byhr 262 —1, 2, a, a+5 DANEREEL B,
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S BX - B\ (RfFOF)
o Eﬂ> #Hyi=16 DL ¥, P=br+yt ORAM, RME, BLUZ
M orEox, yOEERD L,

P =4OFRA-BI (REICHTVZV) ZHORIRICER.
@E]] x*+y°=16 L y*=16—x% - @
| 220 THDENS 16—x20
foT —4=x=4

37, O»H
P=6x+y*=6x+(16—x?%)
=—(x2—6x)+16
=—(x—3)*+3%+16
=—(x—3)%+25

. —4=x=4ThHEHPDH, Pk x=3 TERK, x=—4 TR/
x=3DEE, O»b y=+/7T Z0Lix BAEP=2

x=—40EE, OpH y=0 IOLE E%INEP:—M}

264 KOXOFEKRELBRAME BIUZFDLEDx, yDEZRD L,
*1) x2+y?=1 DL & x*+4y
2) x*+y*=10k& x*—y*+2

265 (1) x ® 2 KB P=x’+2kx+2k*—2x—6k+8 ODF/MNimiz kD&
DL LBEBICREHe 72, BEBmIZEDEARMISK L T/
L b b

*2) x*—xy+y*tx—2y+6 DR/MEE KD X,

*266 £LDOESOMD 4 DHEF K ABCD-EFGH '3 %,
(1) AB=a, AD=x, AE=y £ LT, y% x, a T&t,
(2) BHEOEREMEE x, a TEY, T/, REFERAKITILED
x % aTHE,
(3) CoOEHEE, RAEIFRAEL2DELEE, EARIKIILDH

By K 264 fBIE33SHE,
265 (2) V)OEXH2FHT 2, y ¥ EHEELT, v D2 KRMBLEL 2,

B enigz SsRB0 s>,

957 EREE
A (1) BB y=G+Dx—3| D77 7E»F,
(2) HBRR (c+D|x—3|=a OEBHEOMEE KD Lo

Cp EUEESCERDIST MHELSOPIdsREE, 03723802
SOBAIFT, HAHMEREE T,

1) x=320F%bbx23 DL E L g
y=@+1D|x—3|=(x+1)(x—3) \ 3
x—3<0 §hbb x<3 DL & i

y=(x+1D|x—3|=—(x+1)(x—3)
EoT, ZOBEDNT S 7 3EDROERBGTTHb. B
2) HBRRX (x+D|x—3|=a OEHHBOMEEIL,
y=(x+D|x—3| & y=a DT T T7OREOMWB L —FKT %,
HOEDPS a>4 DEFLE, a=4 DEF2ME, 0<a<4 DEF IE,
a=0 DEE2{E, a<0DEE1E

B ROBEED T T 7 % hlT, [267~269]
267 (1) y=|x—3| *2) y=lx+4] *3) y=|2x—1] @) y=—|x+1|

*268 (1) y=|x—2|+=x 2) y=lx+1|+|x—2]
(3) y=lx—3[—|x+2] @) y=|lx+1]-2|
269 *(1) y=|x*>—2x—3| (2) y=—|x*—4|
*3) y=|x+3|(x—2) 4) y=x*—3|x|
B 75 7 FAL TROBER, TERXNEMEIT, (270, 271] (95, 96 DFEF)
270 *1) [2x—6|=x 2) |2x—6|>x (3) |2x—6|=x
(4) |2x+5|=—3x *5) [2x+5|=—3x (6) |2x+5|<—3x
(7) |2x—3|=2x 8) |2x—3|>2x *9) [2x—3|=2x

271 *1) |x|+]x=3l=5  (2) |x|+|x=3|>5 *@3) |x|+|x—3|=5
@) |x|+|2x—4|=2x (5) |x|+]|2x—4|=2x *6) |x|+]|2x—4]|<2x

272 ROFEROEBHBOMEE KD &,
1) |x—4|=a 2) |x*—6x+5l=a *3) |x—1|(x+5)=a
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Bl %25 mBME

N BX - B\ (XN

N BB y=—x’+2kx+] 1=x=5) OB KMEH 15, HAEH
" —3THB L, EME [OEEED L,

BB NERHOTORA - B\ @ XHMOMEBHRTHESTT %,

y=—(x—k)*+k*+1 1Sx<5)
0] R=1okE x=1THK, x=5Ti/h y
. XoT —1+2%k+i=15 —25+10k+i=—3
21 1<k=S3 0L & x=k THRK, x=5 TN “
ko T kHI=15, —25+10k+1=—3 ‘
3] 3<k<5ME% x=k THEK, x=1 TR/h O 1k 5\«

XoT E*+i=15, —1+2k+I=-3
[4] E>50& & x=5THRK, x=1 T/
XoT —25+10k+1=15 —1+2k+1=-3

W~ & 0=(2, 2) (& -2)

273 2 kEE y=x*—mx+m+3 DF 5 T OTEHEH x>0 HD y>0 O#HiH
GELRI) 2h b L&, EHmOEOHBE KD Lo

2714 ROFEBGEMLETINC, Ea bOEZED L,
(1) 2B y=ax?+2ax+b (—2=x=1) OHEKMEHS5, #/AMHAT1
(2) 2B y=x2—2ax+b (0=x=<6) DFXIMEAS 10, B/IMliA —6

275 ROBEOTKAME M(a) #RKbdD &, T2 Mla) DTS5 7 %9,
(1) y=—x*+2x+1 (0=x=<a) 12720, a>0 ¥ 5,
*2) y=—x2+(@+Dx+1 (0=x=a) 72720, a>0 &1 5,

*276 x @ 2 kHER x*+(@a—2)x—3(a+1)=0 - O PEMELOL A,
EHDER a DR ROFETERD Lo
[1] On22o0fa, BEKD, a=B &L TaDEERDD,
] QOHAURXDIZONWT, D=0 L LTaDfizRKD 3,

Bk 276 EMEELHHXDOBMREERT 5.

ﬁ@fﬁ@tf’?ﬁ @1 ED)

x DHFER x*—2ax+3=0 x>1 D=Lt 12Y

ﬁljﬁ: ) 22X 5, BEHaDEOHEEED X,
B Me<EB1D 200M% o, B (asp) LT5E
D 1<a=B t a<1<B & a=1<B OEEHH b,
@ TEB@ZIOBE »5 Tasp=1 DBss #B .
- fx)=x2=2ax+3 LB, f(x)=(x—a)*—a’*+3
L] 2MAERIC x>l DEE D=4a?—1220, a>1, f(1)>0
Yo T a=—/3, Y3 =a;a>1;4-2¢>0 WwzlZ V3 =a<2
2] 1200 x>1, 1) 120 x<1DEEx K026 a>2
Bl 1o0@EREx>1, ) 1o0@ERx=10tE fQ1)=025 a=2
ZokE, FRRAZ 22—4x+3=0 25 x=1, 3 (&HEiE-T)
S ~Bl A5 az/3
(AR EEmAELOLE 4021220 25 as=—y/3, V3 =a @
2ODMHEDIZx=1 DL E 401220, a=1, fF1)=0 25
as—y{3 - @2o®rxKkt az/3
2717 21 2OoWTORERN 3kx?+4kx—k+8>0 - D IzonT
(1) $TRTOEBxIFLT, FIZOQ DB o8B EDEE KD X,
(2) TRTOEEXxIIHLT, FICOPEYLO>EHREOBEOEHFEZ
Kwd Lo
*218 FoMD & )iz, K BC=12, & AH=10 ® A
5= ABC ISR PQRS 2 L T %, 7
PQ=x £ LT, KOMWIZEZ X, s 120 N
1) EAEPQRS DHEBEERKICT 5 x DEE K
P_HW\Q
Lo BTm---12----7"C
) BFHF PQRS BIEFFL 25 x D% KD Lo
219 x OHFBR 4x*—8ax+a=0 75, ROEG %I T L) ICE K a DED

#HELED Lo
1) x>11I2BVTAHARCED 1 D0HE b D,

*2) 0<x<1IZBVTARLED 1DDB%E B D,
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147 (1) £0)=2, f(-1)=-1, £(2)=8,
fla+2)=3a+8 (2) f(0)=-3, f(=1)=—5,
f@2)=-5, f(a+2)=—a*-3a—5

148 (1) H1IKE (2) HA4KE
(3) #EIRE () FE2RE

149 (1) (B (2) (E)

y
(-1 A-1)e15

1__‘ X
@ 1)
(K], —3=y<7 (2)

150 (1)
(1)

(), y<-7

151 (1) 0=y=<4;x=3 Dk Z{AIE4,
x=—1 Dk XH/ME0
(2) —4=y<—2;x=0 D& XFKKHE -2,
x=1 D& &F{/ME —4
(3) 2<y=6;x=—2 D& XHKHES,
/MBI RN
(4) yz—2; mAMEIZEV, x=—20Dk X
/ME —2

152 (1) y=10x, EFEH x>0
@) y=x(—x), EFFHHK 0<x<5

6) y=i1, s x>0

(@) yidx TEEERL
153 (1) [, (21 (RQ)

(20 N x=20L&FEAfE1, TMEEEW
[2] JAMEIZR, x=1 0Dk XH/ME1

154 (1) 6a+2=<y=<2 (2) 9=<y<25

(3) —16<y=0

[(1) a<0 5, 79 7IXEFTHY OB
2), 3) ZI7%PVTHNG]
155 (1) a=2, b=—-1 (2) a=-1, b=7
3) a=0, b=6 (4) a=2, b=5

[(3) i 3mBI%L ) IFHABBTH BT LIS
EHET 5. £MHH5 (3) a+2=2, b+2=8
(4) —3-(—2)+a=8, —3b+a=-13]
156 a>0 Dk % a=1, b=0;
a0t i a=-1, b=4

157 a=3, b=—2 37k a=—3, =1
[a>0 D& & b=—2, 2a+b=1;a=0 D&
X Tl 5 a<0 OL X b=1, 2a+b=—2]

158 (1)~@) (=)

159 (1) (®) TFud (@)

(2) () Eicdy
(3) () T

160 (), #, TEMONEIC
(1) (), &R x=0, (0,
(2) (R, BE#&Rx=0, & (0,
(@) (&), ERx=1, &,
() (B), E# x=0, = (0,
(5)
(6)
(1)

161 (1)

0)
-3)
-3)
0)

(X)), B x=-3, 5 (=3, 0
(H), E# x=-3, & (-3, 1)

(x+2)*—4 (2) 2(x—2)*—7

(3) —3(x+1)*+6 (4) %(x—l)z““%

[ I -
£

(1)
(2)

H(-1,

(1)

164

(x

-4

(), %, TESONEI
(), & x=1, & (1, —3)

(GOR

(), % x=2 & (2, 0)
(), B x=—3 & (—3

(), mix=—1, 5 (-1
i

B x=—2, 2 (-2, —9)

- =3)

3)

(), ko, B x=1, &0, —2)
(), Ficfh, E#Rx=-1,

(11

_1)
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21 (D)&3);(2) &(6);1)&(5)
165 (1) & (2 IE (3) IE (4) 1E (5) &
6) I [(1) R THE0H a<0

@ §'5ﬂ!x=—2—l:1->0, a<0 ThB7E5 b>0

(3) yEEDEEMPDL c>0

4) fx)=ax®+bx+c £BLE, @PS
F)>0 (6) f(—=1)<0 (6) c<1 TH 5
75 fl)=a+b+c<a+b+1]
166 a=-2, b=1 [BIE19LHR]
167 (1) k=4 (2) k=2

[EAOEZE (-2, k—4)

(1) x8t & yEZEN0 (2) —2=k—4]
168 (1) A- (8,2 B-— (3, —4)

0- (3, -2
(2 A- x#hi:(5 —4), y#h: (=5, 4),
Br (=5, —4)

B- x#:(0,2), y#i: (0, —2),
B (0, 2)
O— =xHi: (0, 0), y#h: (0, 0),

169 (1) y=3(x—2)*+3 (y=3x2—12x+15)
(2) N1 x@HEC -1, y#HRIC —272
BRI L0
DEPEVITEES
JEATRE LD D

170 (1) x@f:y=—x% yi#h:y=x2

- 13 s
» YEAIAC — 7

FRy=—x?

(2) x#h:y=3x> yHh:y=—3x"

B y=3x"

(3) x#f:y=—2x—3, y#fi:y=—2x+3,
B y=2x—3

171 (1) F4788: @, —10), x#: (5, 8),
y#h: (=5, —8), FA: (-5, 8)
(2) PATBE : y=—2(x—3)*—2
(y=—2x2+12x—20),
8l y=2x" y#l:y=—2x" B :y=2«"
172 (1) y=—2(x—2)>+3 (y=—2x*+8x—5)
(2) y=(x—2)2+3 (y=x*—4x+7)
6 y=fa—2+3 (y=txr— i+
173 (1) y=x%*+2x (2) y=3x+15

[(1) TEE (2, —5) 34 (=1, —1) I2BH
G y—4=(x+3)*—4(x+3)—1
(2) y—4=3(x+3)+2]
174 x#HMEIC -3, yEHENC 2 7205 F4T
BELALDD
[2o0TESOERZER, (-2, 3), 1, D]
175 y=2(x+3)*+1 (y=2x*+12x+19)
[ b eoBEPHOTESIE B, 1) FHB
BEoOEMZ (=3, 1) 5 y=2(x+3)*+1
[2] x— —x 26 y=2(—x—3)*+1]
176 (1) x#h:y=—x—6x—7
vl y=x’—6x+7 B :y=—x"+6x—17
(2) x#h:y=—2x+3x
vl y=2x"+3x B y=—2x>—3x
(3) xi@h:y=—x2+x+2
VE G y=x*+x—2 JFHE:y=—x’—x+2
177 y=—-2x—9x—9 [y=2x*—3x+1 % x
BCB L CHBBE S €%, x#AmIC
-3, yEHFIIC 1 FTREH]
178 (1) \AMEIEARV, x=0 D& ZH/AMES
(2) x=0 Dk Z{/AME —2, B/IMEIRZN
(3) BAMEIRR, x=—20L XF/ME1
(4) BAEIXZV, x=1 0L EF/ME 2
(5) x=—1DLER/RAMET, BMEIZEV

6) x=3 ok xRAME L, BERE

179 (1) x=3 Dk &K KAMEY,

x=0 DL XHF/ME0

(2) x=3 D& ZH{HKAMHE12,

x=10Dk X&K/MEO

(3) x=2 »& ZHKIHE 16,

x=—1Dk ZF/ME —2

W) x=t Ok ERAM -3, RMEREY
180 (1) a=—2 (2) a=-2, 10

(3) a=1 4) a=2 (5) a=-38
181 (1) mAMEIRW, x=—20DL XH/MEL

(2) x=3 DL EHKIMES, x=10D& Z/ME —1

(6) x=— D& FRAM L, RMEE
182 (1) x=2 Dk XJ\KME —d4a+5,

x=0 D& EXi{/ME 1

(2) x=2 DL EHKME —4a+5,

x=a DL ZH{/ME —a®+1

(3) x=0, 20k XHZAMEL

x=1 0k ZHK/MEO

(4) x=0D& EHKIEL,

x=a D& XF/ME —a®+1

(5) x=0 Dk XEHAMHE1,

x=2 DL ZH/ME —4a+5
[y=(x—a)’—a’+1 BIEMH x=a
& ERROMBREFRICEH]

183 a0 Dk & x=0 THRAME —a,
0<a<l D& & x=3a THRKAE 9a’—a,
1Sa D& & x=3 THRKME 17a—9
[y=—(x—3a)?+9a*—a]

184 (1) x=0 D& XHALHES,
x=1 0k ZF/NME2
(2) x=00D& EFAMES, x=2 DL XH/MEL
(3) x=0, 4 DL ERAMES, x=2 Dk XH/ME1
(4) 0<a=2 DL X x=0 THRKIES,
x=a TH/MH a®—4a+5
2<a<4 Dk & x=0 THRAMHES, x=2 THR/ME1
a=4 DL & x=0, 4 TRAfES, x=2 TR/MEL
a>4 D& & x=a THRKIE a*—4a+5,
x=2 CTH/MHE 1
(5) x=—2D& EHAHE17,
x=1 DL XHR/ME 2
(6) x=00D& XHEKMES, x=2 D& EH/ME1
() x=4 DL EFKES x=20L EF/ME1
(8) b=—1 D& X x=b THRAME b°—4b+5,
x=b+3 TH/ME b>+2b+2
—1<b6<0.5 D& & x=b THRAME
b?—4b+5, x=2 THR/ME1
5=0.5 D& & x=0.5, 3.5 THRALE 3.25,
x=2 Ci/Méi 1
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